FOREVER%REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE

CHRIS’S PICNIC TABLE
(ATTACHED BENCHEYS)




“uas sired ay) UO paxJewW SJaquinu 8y} 01 Ydrew 1ou op asay ] “AJuo aouaJajal Jo} aJe 3qe] sexogd JO JUsIU0D) 8y Ul SIsquinu 1ded :810N

Sayousg

suoddns youag

suoddns sjgel

Ssaoelg 93U

sba

X
=

dolsjgeL

‘ON

Buimeaqg

uondiiosag

10

S3X04d 40 LNJLNOD

Pl 1

CHRIS’S PICNIC TABLE (ATTACHED BENCHES)

www. ForeverRedwood.com



"2z1S uo Buipuadap Aten [Im arempaey INoA Jo suoisuswiq 810N

| issasisssassnsssan

‘(suoddns
Uyouaq ay} 03 Sayouaq ay3 yoene o)
siog ,.% € X .. 9T/

I e e e

‘(suoddns
3]qe1 ay1 01 suoddns youaq syl yaene o
/ 'sBa] ay1 01 suoddns ajqe1 ayy yoene 01)
siog .. X ,.9T/9

[T

"(sBa] ay1 01 S89RIQ d8UY BY] YIeNR 01)
siog . % ¥ X ..9T/S

O e e

=8

*(dojo|qgel ay1 01 S8drIq 98U BY] yIene o)
syog ..v X ..9T/S

_ult.E.FEE:.EFE.FEE_.E

"(doisqer ayy 01 sbs| ayr yoene o)
siog . % S X ..9T/S

‘ON

Buimeaqg

uondiriosag

1S1T13dvVMAYVH

P| 2

CHRIS’S PICNIC TABLE (ATTACHED BENCHES)

www.ForeverRedwood.com



P|3

“uas sired ay) UO paxJew sJaquinu ayl 01 YorTew 1ou op asay] "AJuo aduaiajad 1o} e BUIMEIQ 8y Ul SIaquinu 1ded :81oN

Sayousg

suoddns youag

suoddns sjgel

SaoeIg 93U

sba

dos|qeL

NOILd140S3d

CHRIS’S PICNIC TABLE (ATTACHED BENCHES)

www.ForeverRedwood.com



Step 1: Place the tabletop upside down. After that, use 5/16”” x 5 %4’ bolts (A) to attach the legs (2) to the tabletop (1). Each part
has a series of numbers that indicate where to attach the part with the corresponding number.

5/16"” X 5 %" Bolts

Step 2: Attach the knee braces (3) to the tabletop with 5/16” x 4”” bolts (B) and to the legs with 5/16"" x 4 %" bolts (C). Each
part has a series of numbers that indicate where to attach the part with the corresponding number.

5/16" X 4 %" Bolts

5/16" X 4" Bolts

P| 4
CHRIS’S PICNIC TABLE (ATTACHED BENCHES)
www. ForeverRedwood.com



Step 3: Use 5/16°” x 5”’ bolts (D) to attach one table support (4) to the legs. Each part has a series of numbers that indicate where
to attach the part with the corresponding number.

5/16” X 5" Bolts

Step 4: Attach the bench supports (5) to the table support with 5/16°” x 5 bolts (D). Each part has a series of numbers that
indicate where to attach the part with the corresponding number.

5/16” X 5 Bolts

P| 5
CHRIS’S PICNIC TABLE (ATTACHED BENCHES)
www. ForeverRedwood.com



Step 5: Place the other table support (4) and attach with the bench and table support bolts previously used. Each part has a series
of numbers that indicate where to attach the part with the corresponding number.

Step 6: Finally, turn the table over its feet. After that, use 5/16”” x 3 %”’ bolts (E) to attach the benches (6) to the bench supports.
Each part has a series of numbers that indicate where to attach the part with the corresponding number.

5/16" X 3% Bolts

P| 6
CHRIS’S PICNIC TABLE (ATTACHED BENCHES)
www. ForeverRedwood.com



This completes the Picnic Table assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question,
don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P|7
CHRIS’S PICNIC TABLE (ATTACHED BENCHES)
www. ForeverRedwood.com



